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1)—‘/73 2)0 3)? 4)% 55-1 61

N

2n 4
. 3HaueHHe BBIPAXKEHUSI COS <a — ?> + cos (oc + 5) paBHO

) — 2=

V2 20 3) V2

2 2

Haiinure 3Ha4eHNE BBIpaXKCHUS

73

1) 73 20 3)1

4. Hailigure 3HaueHUE BBIPAYKEHUS

V3 V2

1)73 L

5. Haiinure 3Ha4€HNE BBIPAKCHUS

V3 V2

D 2)72 3)0

6. Haiinurte 3HaueHHe BbIpaKEHUS

1

H -5 H1 6l

sin12° cos 18° + cos 12°sin 18°.

1 V2
4) = 5 — 6)2
) 2 ) 5 )
sin68° c0s23° — cos 68° sin23°.

1
Hl o 55 62
c0s76° cos 16° +sin76° sin 16°.
1
4)1 5) = 2
) ) 2 6)

sin67°sin 53° —sin23°sin37°.

1)? 2)? )0 41 5)% 6)2
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